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50+20-30+10-20=
90 —20-20+3—4=
60 —30 +50—"70+20=
20+70-10-50+0 =
30+20-10+60—-4=



10mn8
7 n 20
80 n 50
70mn6
48 n 23






YT00ObI Y3HaTL, HA CKOJILKO OA4HO
4yucno oornbLlle UMM MeHbLue Apyroro,
HY)XHO:




Y 3Haukun 20
NATEpPOK, y
He3Hauku 5
naTepokK. Ha
CKOJIbKO Yy
He3Haukn
MeHblle
NATEPOK?




3Hauka - 20
NATEPOK

‘ | @%=<=1ka - 5
<P )H0K
20-5=15(n.)

e OTBeT: y He3Hankm

T Ha 5 narepok
_ MEHbLLE.




COCTABDb 3AAYY
HA PA3HOCTHOE CPABHEHUE




7<9 8§ >5
15>9 6>5



[By3Ha4yHoOe

’ yucno
bonbLue

v OOHO3HaYHOr

0.

O CpaBHeHuUe
ABY3HA4YHbIX
yucern.




“YMeThb...

CpaBHMBaTb
OBY3HA4YHble
4yucna.

|




[By3Ha4yHoOe
Yyucno
Bcerpa ...

oonblLue
OOHO3HaAYHOrI







53 ... 46
78 ...87
66... 34
25 ... 27
97...98
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